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& [BREt X _ _ e B NEEAHRE (BEDS>HLDNED)]
£ o % = | B B @ 28 | H | £ % H# | € %
FEHER RIFMTEHEEEREE 0.290[ A 57,400 16,646| 57,400 16,646 0.000 0
FETA R EHEEEREE 0.710 A 51,200 36,352| 51,200 36,352 0.000 0
HEnB RIFZMTEHEEEREE 1.280] A 40,600 51,968 40,600 51,968 0.000 0
HEfC R EEEREE 1470 A 32,800 48216/ 32,800 48,216 0.000 0
Bifig R EHEEEREE 14700 A 29,000 42,630| 29,000 42,630 0.000 0
i 195,812 195,812 0.000 0
B fiff 1.0 43y 195,812
EEANE 195,812
ZTRMBEE 0
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BB % |FRETETE 1-FMNo ER D 1.00 1 R BT = AE ST E A E A=F-
B & _ _ 1% - NEEAE B o= [[REesRONES)
e 7 H ® B = | B B Im | & % | B m | = %= i B3 | = %8
2| FEHED R ERAERHEE 0.230] A 57,400 13,202| 57,400 13,202 0.000 0
3|HEMA R ERAEHE 0.600[ A 51,200 30,720/ 51,200 30,720 0.000 0
4| BB R ERAERHEE 0.890] A 40,600 36,134| 40,600 36,134 0.000 0
g 80,056 80,056 0.000 0
B {f 1.0 &Ly 80,056
EEAGE 80,056
ZTDMEE 0
data| (f&Z) AILUF LGEKE - EKE), EETHY1S
6
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B4 | IRt R 1-FNo ER > £ 1.00 YE R B L % e E A=
B & _ _ f 3 NEEAGE (BEDS>HLDNED)]
T e o % = |Hfu| B MW | € B | E M| £ 2 Hi# | £ %8
2| FEHED RIFMTEHEEEREE 0.650[ A 57,400 37,310/ 57,400 37,310 0.650| 37,310
3|EMA R EHEEEREE 1.290 A 51,200 66,048 51,200 66,048 1.290| 66,048
4|3ENB RIFZMTEHEEEREE 1.940] A 40,600 78,764 40,600 78,764 1.940| 78,764
5|HiEfiC R EEEREE 1.290 A 32,800 42,312| 32,800 42,312 1.290] 42,312
B 224,434 224,434 5.170] 224,434
B fiff 1.0 43y 224,434
EEANE 224,434
ZTRMBEE 0

data| (&%) ALY LGEKE EKED), EFETITHY1S
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Hifa % (EABIERE 1-FNo ER > £ 1.00 YE R B L X RE e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| FEHED RIFMTEHEEEREE 0.290[ A 57,400 16,646| 57,400 16,646 0.000 0
3|EMA R EHEEEREE 0.840] A 51,200 43,008 51,200 43,008 0.000 0
4|3ENB RIFZMTEHEEEREE 1.160] A 40,600 47,096] 40,600 47,096 0.000 0
5|HiEfiC R EEEREE 0.470] A 32,800 15416/ 32,800 15,416 0.000 0
6| FfiiE R EHEEEREE 0.330] A 29,000 9,570| 29,000 9,570 0.000 0
B 131,736 131,736 0.000 0
B fiff 1.0 FEY 131,736
EEANE 131,736
ZTDMIRE 0
data| (B%) AIUA LGEKE - EKE), EETITHY1S
6




= REE?
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HHES 3052 | = 55 ZHRES| 3052 |EEsnEEE
B4 74 | i ERERE 1-FNo YER D 1.00 YE R B L X RE ESTETAE J=E-T
B & _ _ e B NEEAHRE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
3| FEMA RIFMTEHEEEREE 1.230] A 51,200 62,976/ 51,200 62,976 0.000 0
4|3 EfB R EHEEEREE 1.880] A 40,600 76,328| 40,600 76,328 0.000 0
5|3EMC RIFZMTEHEEEREE 3.180[ A 32,800 104,304| 32,800 104,304 0.000 0
ez =] R EEEREE 3470 A 29,000 100,630| 29,000 100,630 0.000 0
i 344,238 344,238 0.000 0
B fiff 1.0 HEHY 344,238
EEANE 344,238
ZTRMBEE 0
data| (B%) AIUA LGEKE - EKE), EETITHY1S
6
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Bi&# | BEHE 1-FNo ER > £ 1.00 YE R B L X RE e E A=
B & _ _ e B NEEAHRE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
4|3ENB RIFMTEHEEEREE 0.680] A 40,600 27,608| 40,600 27,608 0.000 0
5|HiEfiC R ERAEHE 1.730] A 32,800 56,744| 32,800 56,744 0.000 0
e =] RIFZMTEHEEEREE 2.040] A 29,000 59,160/ 29,000 59,160 0.000 0
B 143,512 143,512 0.000 0
B 1 1.0 H&Y 143,512
EEANE 143,512
ZTDMIRE 0
data| (B%) AIUA LGEKE - EKE), EETITHY1S
6
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HHES 3054 | = 55 ZHRES| 3054 |EEsnEEE
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B & _ _ e B NEEAHRE (BBEDSLDINES)
T e o % = | Hfr| B ff 28 | H | £ % EE 8
2| E{EHED RIFMTEHEEEREE 0.480] A 57,400 27,552| 57,400 27,552 0.000 0
3|EMA R EHEEEREE 0.600] A 51,200 30,720/ 51,200 30,720 0.000 0
4|3ENB RIFZMTEHEEEREE 0.480[ A 40,600 19,488 40,600 19,488 0.000 0
5|HiEfiC R EEEREE 0.320] A 32,800 10,496] 32,800 10,496 0.000 0
B 88,256 88,256 0.000
B fiff 1.0 HEHY 88,256
EEANE 88,256
ZTRMBEE 0
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MEH &S 3055 | ES 55 ZEE] 3055 |mEsmeEE
B4 #h | EXETERBAE1ERK 31—} No ER > £ 1.00 YE R B L #% RE e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| E{EHED RIFMTEHEEEREE 0.440| A 57,400 25,256] 57,400 25,256 0.000 0
3|EMA R EHEEEREE 1.070 A 51,200 54,784| 51,200 54,784 0.000 0
4|3ENB RIFZMTEHEEEREE 1.920 A 40,600 77,952| 40,600 77,952 0.000 0
5|HiEfiC R EEEREE 22101 A 32,800 72,488 32,800 72,488 0.000 0
6| FfiiE R EHEEEREE 2210 A 29,000 64,090/ 29,000 64,090 0.000 0
B 294,570 294570 0.000 0
B 1 1.0 45y 294,570
EEANE 294,570
ZTRMBEE 0
data| (B%) AIUA LGEKE - EKE), EETITHY1S
6
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Bii&# |1 & HE 1-FNo ER > £ 1.00 YE R B L #% RE e E A=
B 8 [BRETEE R 40 _ 1-1 f 3 NEEAGE B o= [[REesRONES)
R [EiNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| E{EHED RIFMTEHEEEREE 2.000 A 57,400 114,800 57,400 114,800 0.000 0
3|EMA R ERAEHE 2.000] A 51,200 102,400, 51,200 102,400 0.000 0
4|3ENB RIFZMTEHEEEREE 2.000 A 40,600 81,200/ 40,600 81,200 0.000 0
B 298,400 298,400 0.000 0
B fiff 1.0 43y 298,400
EEAGE 298,400
ZTRMBEE 0
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B & _ _ e B NEEAHRE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | Efu| = il %8 | & m | = 28 i B& | = %8
2| E{EHED RIFMTEHEEEREE 0.000] A 57,400 0| 57,400 0 0.000 0
3|EMA R EHEEEREE 0.590] A 51,200 30,208| 51,200 30,208 0.590| 30,208
4|3ENB RIFZMTEHEEEREE 0.990] A 40,600 40,194 40,600 40,194 0.990| 40,194
5|HiEfiC R EEEREE 0.000] A 32,800 0| 325800 0 0.000 0
6| FfiiE R EHEEEREE 0.900] A 29,000 26,100/ 29,000 26,100 0.900[ 26,100
22| T RIFMTEEEREE 0.000[ A 29,600 0 0 0 0.000 0
i 96,502 96,502 2.480] 96,502
B fiff 1.0 XHY 96,502
EEANE 96,502
ZTRMBEE 0
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Bifa% (EABIERE 1-FNo YER D 1.00 YE R B L = RE e E A=
B & _ _ e B NEEAHRE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | Efu| = il %8 | & m | = 28 i B& | = %8
2| E{EHED RIFMTEHEEEREE 0.000] A 57,400 0| 57,400 0 0.000 0
3|EMA R EHEEEREE 0.680] A 51,200 34,816] 51,200 34,816 0.000 0
4|3ENB RIFZMTEHEEEREE 1.180] A 40,600 47,908| 40,600 47,908 0.000 0
5|HiEfiC R EEEREE 0.000] A 32,800 0| 325800 0 0.000 0
6| FfiiE R EHEEEREE 0.000] A 29,000 0/ 29,000 0 0.000 0
22| T RIFMTEEEREE 0.000[ A 29,600 0 0 0 0.000 0
i 82,724 82,724 0.000 0
B 1 1.0 XHY 82,724
EEANE 82,724
ZTRMBEE 0
data| (f5&) Z/EAILA7) EMIELNHAESE £EL 00 EFENHEEE 00
6




= REE?
=25 1 A B (i 3= i
HHES 2816 | = 55 ZHRES| 2816 |EEimnEEE
B {45 #4 | ERETETE 1-FNo YER D 1.00 YE R B L = RE e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| E{EHED RIFMTEHEEEREE 0.530] A 57,400 30,422| 57,400 30,422 0.000 0
3|EMA R EHEEEREE 0.000] A 51,200 0| 51,200 0 0.000 0
4|3ENB RIFZMTEHEEEREE 1.060[ A 40,600 43,036/ 40,600 43,036 0.000 0
5|HiEfiC R EEEREE 0.930] A 32,800 30,504| 32,800 30,504 0.000 0
6| FfiiE R EHEEEREE 0.000] A 29,000 0/ 29,000 0 0.000 0
22| T RIFMTEEEREE 0.000[ A 29,600 0 0 0 0.000 0
i 103,962 103,962 0.000 0
B fiff 1.0 XHY 103,962
EEANE 103,962
ZTRMBEE 0

data| (&) BELXILAT7) ILEEFHE 03hakiE -02 BEDHEEE 10
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B & _ _ f 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | Efu| = il %8 | & m | = 28 i B& | = %8
2| E{EHED RIFMTEHEEEREE 0.000] A 57,400 0| 57,400 0 0.000 0
3|EMA R EHEEEREE 0.680] A 51,200 34,816] 51,200 34,816 0.000 0
4|3ENB RIFZMTEHEEEREE 0.680] A 40,600 27,608| 40,600 27,608 0.000 0
5|HiEfiC R EEEREE 0.000] A 32,800 0| 325800 0 0.000 0
6| FfiiE R EHEEEREE 1.090] A 29,000 31,610/ 29,000 31,610 0.000 0
22| T RIFMTEEEREE 0.000[ A 29,600 0 0 0 0.000 0
i 94,034 94,034 0.000 0
B fiff 1.0 XHY 94,034
EEANE 94,034
ZTRMBEE 0
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B & _ _ e B NEEAHRE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | Efu| = il %8 | & m | = 28 i B& | = %8
2| E{EHED RIFMTEHEEEREE 0.000] A 57,400 0| 57,400 0 0.000 0
3|EMA R EHEEEREE 0.590] A 51,200 30,208| 51,200 30,208 0.590| 30,208
4|3ENB RIFZMTEHEEEREE 0.990] A 40,600 40,194 40,600 40,194 0.990| 40,194
5|HiEfiC R EEEREE 0.000] A 32,800 0| 325800 0 0.000 0
6| FfiiE R EHEEEREE 0.900] A 29,000 26,100/ 29,000 26,100 0.900[ 26,100
22| T RIFMTEEEREE 0.000[ A 29,600 0 0 0 0.000 0
i 96,502 96,502 2.480] 96,502
B fiff 1.0 XHY 96,502
EEANE 96,502
ZTRMBEE 0
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R [EliNe| 2 7 T 1 B & | Efu| = il %8 | & m | = 28 i B& | = %8
2| E{EHED RIFMTEHEEEREE 0.000] A 57,400 0| 57,400 0 0.000 0
3|EMA R EHEEEREE 0.410] A 51,200 20,992| 51,200 20,992 0.000 0
4|3ENB RIFZMTEHEEEREE 0.710 A 40,600 28,826] 40,600 28,826 0.000 0
5|HiEfiC R EEEREE 0.000] A 32,800 0| 325800 0 0.000 0
6| FfiiE R EHEEEREE 0.000] A 29,000 0/ 29,000 0 0.000 0
22| T RIFMTEEEREE 0.000[ A 29,600 0 0 0 0.000 0
i 49,818 49,818 0.000 0
B fiff 1.0 KBy 49,818
EEANE 49,818
ZTRMBEE 0
data| (f5&) £428(107) EMILDHEEEHEY 06 BEDHESE 10
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B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| E{EHED RIFMTEHEEEREE 0.530] A 57,400 30,422| 57,400 30,422 0.000 0
3|EMA R EHEEEREE 0.000] A 51,200 0| 51,200 0 0.000 0
4|3ENB RIFZMTEHEEEREE 1.060[ A 40,600 43,036/ 40,600 43,036 0.000 0
5|HiEfiC R EEEREE 0.930] A 32,800 30,504| 32,800 30,504 0.000 0
6| FfiiE R EHEEEREE 0.000] A 29,000 0/ 29,000 0 0.000 0
22| T RIFMTEEEREE 0.000[ A 29,600 0 0 0 0.000 0
i 103,962 103,962 0.000 0
B fiff 1.0 XHY 103,962
EEANE 103,962
ZTRMBEE 0
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B & _ _ f 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | Efu| = il %8 | & m | = 28 i B& | = %8
2| E{EHED RIFMTEHEEEREE 0.000] A 57,400 0| 57,400 0 0.000 0
3|EMA R EHEEEREE 0.680] A 51,200 34,816] 51,200 34,816 0.000 0
4|3ENB RIFZMTEHEEEREE 0.680] A 40,600 27,608| 40,600 27,608 0.000 0
5|HiEfiC R EEEREE 0.000] A 32,800 0| 325800 0 0.000 0
6| FfiiE R EHEEEREE 1.090] A 29,000 31,610/ 29,000 31,610 0.000 0
22| T RIFMTEEEREE 0.000[ A 29,600 0 0 0 0.000 0
i 94,034 94,034 0.000 0
B fiff 1.0 XHY 94,034
EEANE 94,034
ZTRMBEE 0

datal (&%) £~ A107)




= REE?
=25 1 A B (i 3= i
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R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
3| FEMA RIFMTEHEEEREE 0.670 A 51,200 34,304| 51,200 34,304 0.000 0
4|3 EfB R EHEEEREE 1.070 A 40,600 43,442| 40,600 43,442 0.000 0
5|3EMC RIFZMTEHEEEREE 0.940] A 32,800 30,832] 32,800 30,832 0.000 0
ez =] R EEEREE 1.740] A 29,000 50,460[ 29,000 50,460 0.000 0
22|HT R EHEEEREE 1.600[ A 29,600 47,360 0 0 0.000 0
i 206,398 159,038 0.000 0
B fiff 1.0 XHY 206,398
EEANE 159,038
ZTRMBEE 47,360
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R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
3| FEMA RIFMTEHEEEREE 0.740[ A 51,200 37,888 51,200 37,888 0.000 0
4|3 EfB R EHEEEREE 1.140[ A 40,600 46,284| 40,600 46,284 0.000 0
5|3EMC RIFZMTEHEEEREE 1.770) A 32,800 58,056] 32,800 58,056 0.000 0
ez =] R EEEREE 1.770] A 29,000 51,330/ 29,000 51,330 0.000 0
22|HT R EHEEEREE 1.600[ A 29,600 47,360 0 0 0.000 0
i 240,918 193,558 0.000 0
B fiff 1.0 KBy 240,918
EEANE 193,558
ZTRMBEE 47,360
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32 [E ffiNo 5 ® B = | B B Im | & % | B m | = %= i B3 | = %8
5 R ERAERHEE 1110 A 32,800 36,408 32,800 36,408 0.000 0
6 R ERAEHE 1.910 A 29,000 55,390 29,000 55,390 0.000 0
B 91,798 91,798 0.000 0
B fiff 1.0 Ky 91,798
EEAGE 91,798
ZTDMhIEE 0
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R [EliNe| 2 7 T 1 B & | B B m | & %8 & %8 i B& | = %8
2| E{EHED RIFMTEHEEEREE 0.500] A 57,400 28,700 28,700 0.000 0
4|3 EfB R EHEEEREE 1.010 A 40,600 41,006 41,006 0.000 0
B 69,706 69,706 0.000 0
B {f 1.0 XHY 69,706
EEANE 69,706
ZTDMIRE 0
datal (&%) BEAILAT). £548(107) WLUEEHE 05hakiE -02 BEDHEEDH 00
6
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# 8 ERIER100m _ _ 1 B NERAGE B o= [[REesRONES)
R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.060] A 40,000 2,400| 40,000 2,400 0.060 2,400
* 17[ B = e R EHEEEREE 0.060] A 30,700 1,842 30,700 1,842 0.060 1,842
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BI =B & R EEEREE 0.120 A 24,200 2,904| 24,200 2,904 0.120 2,904
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 7,146 357 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 7,146 107 0 0 0.000 0
B 7,610 7,146 0.240 7,146
B fiff 1.0 KBy 7,610
EEANE 7,146
ZTRMBEE 464
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R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.180[ A 40,000 7,200/ 40,000 7,200 0.120 4,800
* 17[ B = e R EHEEEREE 0.210] A 30,700 6,447| 30,700 6,447 0.140 4,298
* 18[BI=B1F RIFZMTEHEEEREE 0.290] A 29,600 8,584] 29,600 8,584 0.290 8,584
* 19[;BI =B & R EEEREE 0.290[ A 24,200 7,018 24,200 7,018 0.290 7,018
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 29,249 1,462 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 29,249 439 0 0 0.000 0
B 31,150 29,249 0.840] 24,700
B 1 1.0 XHY 31,150
EEANE 29,249
ZTRMBEE 1,901
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6




= REE?
=25 1 A B (i 3= ﬁﬁ%%
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R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.030[ A 40,000 1,200/ 40,000 1,200 0.000 0
* 17[ B = e R EHEEEREE 0.110] A 30,700 3,377 30,700 3,377 0.060 1,842
* 18[BI=B1F RIFZMTEHEEEREE 0.220[ A 29,600 6,512] 29,600 6,512 0.120 3,552
* 19[;BI =B & R EEEREE 0.110[ A 24,200 2,662 24,200 2,662 0.110 2,662
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 13,751 688 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 13,751 206 0 0 0.000 0
B 14,645 13,751 0.290 8,056
B 1 1.0 XHY 14,645
EEANE 13,751
ZTRMBEE 894

data| (j&E) BE() ;RMERKR0SkmEKRE 0.2 #% & 0.0




= REE?
kR R E i
FFHES 3354 | mE 55 ZREE| 3354 |[mEaneE=E
Bifi4& | fEE Y EtEn 1-FMNo B B 1.00 1 R BT = AE ST E A E A=F-
B S [ _ _ e B NEEAHRE B o= [[REesRONES)
e 7 H ® B = | B B Im | & % | B m | = %= i B3 | = %8
* 16[B=HEh R ERAERHEE 0.300] A 40,000 12,000/ 40,000 12,000 0.250 10,000
* 178 S B Afitd R ERAEHE 0.460[ A 30,700 14,122| 30,700 14,122 0.250 7,675
* 18RI EBNF R ERAERHEE 0.460] A 29,600 13,616/ 29,600 13,616 0.250 7,400
* 19|BIEEB & R ERAEHE 0.750] A 24,200 18,150/ 24,200 18,150 0.750 18,150
501 (M HE R E X |MgLBEIcdd 388 5.000] % 57,888 2,894 0 0 0.000 0
502 | MR8 G B2 Mg LB 2584 1.500] % 57,888 868 0 0 0.000 0
B 61,650 57,888 1.500| 43,225
B fiff 1.0 Ky 61,650
EEAGE 57,888
ZTDMhIEE 3,762
data| (&) BEQ) HEETEZEEIOMLIE50m&E 0.0 #5% 0.0
6




— Y ; }
kR R E ﬁﬁ%%
FFHES 3355 | = 55 ZEE| 3355 |mEaneEE=E
B (% |FmRERA J1-FNo ER D 1.00 1 R BT = AE ST E A E A=F-
B & _ _ 1% - NEEAE B o= [[REesRONES)
e 7 H ® B = | B B Im | & % | B m | = %= i B3 | = %8
* 16[B=HEh R ERAERHEE 0.120] A 40,000 4,800/ 40,000 4,800 0.000 0
* 178 S B Afitd R ERAEHE 0.240[ A 30,700 7,368 30,700 7,368 0.000 0
* 18RI EBNF R ERAERHEE 0.000[ A 29,600 0| 29,600 0 0.000 0
* 19|BIEEB & R ERAEHE 0.000] A 24,200 ol 24200 0 0.000 0
501 (M HE R E X |MgLBEIcdd 388 1.500] % 12,168 183 0 0 0.000 0
g 12,351 12,168 0.000 0
B {f 1.0 KLY 12,351
EEAGE 12,168
ZTDMhIEE 183
data| (&%) B E() EREEREOSkmERE -02 ZFS#REIREIOm -0.2
6




= REE?
=25 1 A B (i 3= ﬁﬁ%%
HHES 3358 | = 55 ZiES| 3358 |mEsmnEEE
HEifia# [ESP 0 RIS 1-FNo YER D 1.00 YE R B L = RE e E A=
# B EFT RRER 20m _ 1 B NERAGE B o= [[REesRONES)
R BN | 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.030[ A 40,000 1,200/ 40,000 1,200 0.020 800
* 17[ B = e R EHEEEREE 0.040] A 30,700 1,228 30,700 1,228 0.030 921
* 18[;A|ZBhF RIFZMTEHEEEREE 0.060[ A 29,600 1,776] 29,600 1,776 0.060 1,776
* 19[;BI =B & R EEEREE 0.060[ A 24,200 1,452 24,200 1,452 0.060 1,452
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 5,656 283 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 5,656 85 0 0 0.000 0
i 6,024 5,656 0.170 4,949
B fiff 1.0 XHY 6,024
EEANE 5,656
ZTRMBE 368

datal (%) #EN)

EMIER 05kmKiE 0.2 #uR 0.0




= REE?
=25 1 A B (i 3= ﬁﬁ%%
HHES 3359 | = 55 EiES| 3359 |mEsmnEEE
B4 74 | SR = 1-FNo YER D 1.00 YE R B L = RE e E A=
B 6 EFT RRER20M _ 1 B NERAGE B o= [[REesRONES)
R BN | 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.010[ A 40,000 400| 40,000 400 0.000 0
* 17[ B = e R EHEEEREE 0.020] A 30,700 614| 30,700 614 0.010 307
* 18[BI=B1F RIFZMTEHEEEREE 0.040[ A 29,600 1,184] 29,600 1,184 0.020 592
* 19[;BI =B & R EEEREE 0.020[ A 24,200 484 24,200 484 0.020 484
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 2,682 134 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 2,682 40 0 0 0.000 0
B 2,856 2,682 0.050 1,383
B fiff 1.0 KBy 2,856
EEANE 2,682
ZTRMBE 174
data (%) BE) ERER 05kmkiF 02 " F 00
6




= REE?
=25 1 A B (i 3= ﬁﬁ%%
HHES 3360 | = 55 ZHES| 3360 |[EEHmnEEE
B4 | SEETRE 1-FNo YER D 1.00 YE R B L = RE e E A=
# S EFT BEER 20m _ 1 B NERAGE B o= [[REesRONES)
R BN | 2 7 T 1 B & | Efu| = il %8 | & m | = 28 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.000] A 40,000 0| 40,000 0 0.000 0
* 17[ B = e R EHEEEREE 0.030] A 30,700 921| 30,700 921 0.020 614
* 18[BI=B1F RIFZMTEHEEEREE 0.030] A 29,600 888| 29,600 888 0.020 592
* 19[;BI =B & R EEEREE 0.050[ A 24,200 1,210] 24,200 1,210 0.050 1,210
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000] % 3,019 151 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 3,019 45 0 0 0.000 0
B 3,215 3,019 0.090 2,416
B 1 1.0 XHY 3,215
EEANE 3,019
ZTRMBE 196
datal (&) BE() MEFE20mKiE 1E30mEKH -03 #K & 00
6




AR 22 {8 31| BE i =%

HHES 3362 | mE 55 ZHRES| 3362 |EmEsnEEE
Bifi4 | iR {/ERB J1-FNo ER > £ 1.00 YE R B L = RE e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.320 A 40,000 12,800 40,000 12,800 0.000 0
* 17[ B = e R EHEEEREE 0.640| A 30,700 19,648 30,700 19,648 0.000 0
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BI =B & R EEEREE 0.000[ A 24,200 0| 24,200 0 0.000 0
501 [ MAELHEXHE] |HMESBEIRTIEE 1.500] % 32,448 487 0 0 0.000 0
B 32,935 32,448 0.000 0
B 1 1.0 XHY 32,935
EEANE 32,448
ZTRMBEE 487
datd (%) BE() EREROSkmEE -02 ZEZ#RMEME5m 0.0
6




= REE?
=25 1 A B (i 3= ﬁﬁ%%
HHES 3364 | = 55 ZiHES| 3364 |EEsnEEE
HifaH (HEER 1-FNo YER D 1.00 YE R B L = RE e E A=
# 8 ERER150m _ _ 1 B NERAGE B o= [[REesRONES)
R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.090] A 40,000 3,600/ 40,000 3,600 0.090 3,600
* 17[ B = e R EHEEEREE 0.090] A 30,700 2,763] 30,700 2,763 0.090 2,763
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BI =B & R EEEREE 0.180| A 24,200 4356 24,200 4,356 0.180 4,356
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 10,719 536 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 10,719 161 0 0 0.000 0
B 11,416 10,719 0.360] 10,719
B fiff 1.0 KBy 11,416
EEANE 10,719
ZTRMBE 697
datal (&%) JI| £ (139) ERILEROSkmEKH 02 #1E & 00
6




= REE?
=25 1 A B (i 3= ﬁﬁ%%
HHES 3365 | = 55 EHES| 3365 |[EmEmnEEE
HEifia# [ESP 0 RIS 1-FNo YER D 1.00 YE R B L = RE e E A=
# 8 ERER150m _ _ 1 B NERAGE B o= [[REesRONES)
R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.270] A 40,000 10,800 40,000 10,800 0.180 7,200
* 17[ B = e R EHEEEREE 0.310] A 30,700 9,517 30,700 9,517 0.210 6,447
* 18[BI=B1F RIFZMTEHEEEREE 0.430[ A 29,600 12,728] 29,600 12,728 0.430] 12,728
* 19[;BI =B & R EEEREE 0.430[ A 24,200 10,406| 24,200 10,406 0.430 10,406
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000] % 43,451 2,173 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 43,451 652 0 0 0.000 0
B 46,276 43,451 1.250| 36,781
B 1 1.0 XHY 46,276
EEANE 43,451
ZTRMBE 2,825
datal (&%) JI| L (139) ERILEROSkmEKH 0.2 H#iE & 0.0)
6




= REE?
=25 1 A B (i 3= ﬁﬁ%%
HHES 3366 | = 55 ZiES| 3366 |EEHHEEE
B4 74 | SR = 1-FNo ER > £ 1.00 YE R B L = RE e E A=
# 8 ERER150m _ _ 1 B NERAGE B o= [[REesRONES)
R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.050] A 40,000 2,000/ 40,000 2,000 0.000 0
* 17[ B = e R EHEEEREE 0.170] A 30,700 5,219] 30,700 5,219 0.090 2,763
* 18[BI=B1F RIFZMTEHEEEREE 0.330] A 29,600 9,768 29,600 9,768 0.180 5,328
* 19[;BI =B & R EEEREE 0.160[ A 24,200 3,872 24,200 3,872 0.160 3,872
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 20,859 1,043 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 20,859 313 0 0 0.000 0
B 22,215 20,859 0.430] 11,963
B 1 1.0 XHY 22,215
EEANE 20,859
ZTRMBE 1,356

data| (&%) JI| £ (139) RIRELEKO05kmEKRE 0.2 % & 0.0




= REE?
kR R E i
FFHES 3368 | mE 55 ZREE| 3368 |[mEamEEE
Bifi4& | fEE Y EtEn 1-FMNo B B 1.00 1 R BT = AE ST E A E A=F-
B S [ _ _ e B NEEAHRE B o= [[REesRONES)
e 7 H ® B = | B B Im | & % | B m | = %= i B3 | = %8
* 16[B=HEh R ERAERHEE 0.300] A 40,000 12,000/ 40,000 12,000 0.250 10,000
* 178 S B Afitd R ERAEHE 0.460[ A 30,700 14,122| 30,700 14,122 0.250 7,675
* 18RI EBNF R ERAERHEE 0.460] A 29,600 13,616/ 29,600 13,616 0.250 7,400
* 19|BIEEB & R ERAEHE 0.750] A 24,200 18,150/ 24,200 18,150 0.750 18,150
501 (M HE R E X |MgLBEIcdd 388 5.000] % 57,888 2,894 0 0 0.000 0
502 | MR8 G B2 Mg LB 2584 1.500] % 57,888 868 0 0 0.000 0
B 61,650 57,888 1.500| 43,225
B fiff 1.0 Ky 61,650
EEAGE 57,888
ZTDMhIEE 3,762
data| (%) JI| £ (139) HEETER3IOMLLES0m*EE 0.0 #iR £ 0.0
6




AR 22 {8 31| BE i =%

HHES 3369 | mE 55 EiHES| 3369 |[EEimnEEE
Bifi4# | FmRERA J1-FNo ER > £ 1.00 YE R B L = RE e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0120 A 40,000 4,800/ 40,000 4,800 0.000 0
* 17[ B = e R EHEEEREE 0.240] A 30,700 7,368| 30,700 7,368 0.000 0
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BI =B & R EEEREE 0.000[ A 24,200 0| 24,200 0 0.000 0
501 [ MAELHEXHE] |HMESBEIRTIEE 1.500( % 12,168 183 0 0 0.000 0
B 12,351 12,168 0.000 0
B 1 1.0 XHY 12,351
EEANE 12,168
ZTRMBE 183
datd (%) JIIE(139) ERIERO0SkmEFE -02 Z=#EMREI0Om -0.2
6




= REE?
=25 1 A B (i 3= ﬁﬁ%%
HHES 3378 | = 55 ZiES| 3378 |mEsnmnEEE
HifaH (HEER 1-FNo YER D 1.00 YE R B L = RE e E A=
# 8 ERIER100m _ _ 1 B NERAGE B o= [[REesRONES)
R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.060] A 40,000 2,400| 40,000 2,400 0.060 2,400
* 17[ B = e R EHEEEREE 0.060] A 30,700 1,842 30,700 1,842 0.060 1,842
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BI =B & R EEEREE 0.120 A 24,200 2,904| 24,200 2,904 0.120 2,904
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 7,146 357 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 7,146 107 0 0 0.000 0
B 7,610 7,146 0.240 7,146
B fiff 1.0 KBy 7,610
EEANE 7,146
ZTRMBEE 464
datal (&%) JI| EA4(132) JZRER 05kmKiHE 02 #R & 00
6




= REE?
=25 1 A B (i 3= ﬁﬁ%%
HHES 3379 | mE 55 ZHES| 3379 |mEsnEEE
HEifia# [ESP 0 RIS 1-FNo ER > £ 1.00 YE R B L = RE e E A=
# 8 ERIER100m _ _ 1 B NERAGE B o= [[REesRONES)
R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.180[ A 40,000 7,200/ 40,000 7,200 0.120 4,800
* 17[ B = e R ERAEHE 0.210] A 30,700 6,447| 30,700 6,447 0.140 4,298
* 18[BI=B1F RIFZMTEHEEEREE 0.290] A 29,600 8,584] 29,600 8,584 0.290 8,584
* 19[;BI =B & R ERAEHE 0.290[ A 24,200 7,018 24,200 7,018 0.290 7,018
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 29,249 1,462 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 29,249 439 0 0 0.000 0
B 31,150 29,249 0.840] 24,700
B 1 1.0 XHY 31,150
EEANE 29,249
ZTRMBEE 1,901
datal (&%) JI| £H4(132) ERERO5kmRE 0.2 #ik & 0.0
6




= REE?
=25 1 A B (i 3= ﬁﬁ%%
HHES 3380 | = 55 EiHES| 3380 |mEsmmnEEE
B4 74 | SR = 1-FNo YER D 1.00 YE R B L = RE e E A=
# 8 ERIER100m _ _ 1 B NERAGE B o= [[REesRONES)
R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.030[ A 40,000 1,200/ 40,000 1,200 0.000 0
* 17[ B = e R EHEEEREE 0.110] A 30,700 3,377 30,700 3,377 0.060 1,842
* 18[BI=B1F RIFZMTEHEEEREE 0.220[ A 29,600 6,512] 29,600 6,512 0.120 3,552
* 19[;BI =B & R EEEREE 0.110[ A 24,200 2,662 24,200 2,662 0.110 2,662
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 13,751 688 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 13,751 206 0 0 0.000 0
B 14,645 13,751 0.290 8,056
B 1 1.0 XHY 14,645
EEANE 13,751
ZTRMBEE 894

data| (&%) JI| A4 (132) ERIRER 0.5kmKiEH 0.2 % & 0.0

6




= REE?
=25 1 A B (i 3= i
HHES 3382 | = 55 ZiHES| 3382 |mEsnEEE
BHEifa % [(EEYEREEMnm 1-FNo YER D 1.00 YE R B L = RE e E A=
B S [ _ _ e B NEEAHRE B o= [[REesRONES)
R [BiNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.250[ A 40,000 10,000| 40,000 10,000 0.200 8,000
* 17[ B = e R EHEEEREE 0.410] A 30,700 12,587 30,700 12,587 0.200 6,140
* 18[BI=B1F RIFZMTEHEEEREE 0.410[ A 29,600 12,136] 29,600 12,136 0.200 5,920
* 19[;BI =B & R EEEREE 0.600[ A 24,200 14,520 24,200 14,520 0.600 14,520
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 49,243 2,462 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 49,243 739 0 0 0.000 0
B 52,444 49,243 1.200( 34,580
B fiff 1.0 XHY 52,444
EEANE 49,243
ZTRMBEE 3,201
data (&%) JI| EH4(132) HEBTEERI0MLL ES50mEKE 0.0 iR 5 -0.2
6




AR 22 {8 31| BE i =%

HHES 3383 | mE 55 ZiES| 3383 |mEsmnEEE
Bifi4# | FmRERA J1-FNo ER > £ 1.00 YE R B L = RE e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0120 A 40,000 4,800/ 40,000 4,800 0.000 0
* 17[ B = e R EHEEEREE 0.240] A 30,700 7,368| 30,700 7,368 0.000 0
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BI =B & R EEEREE 0.000[ A 24,200 0| 24,200 0 0.000 0
501 [ MAELHEXHE] |HMESBEIRTIEE 1.500( % 12,168 183 0 0 0.000 0
B 12,351 12,168 0.000 0
B 1 1.0 XHY 12,351
EEANE 12,168
ZTRMBEE 183
data| (&) JIIEAS(132) ERIER 05kmkiE -0.2 FSiEMEREI0m —0.2
6




= REE?
=25 1 A B (i 3= i
HHES 3389 | = 55 ZiHES| 3389 |mEsmmnEEE
BHEifa % [(EEYEREEMnm 1-FNo YER D 1.00 YE R B L = RE e E A=
B S [ _ _ e B NEEAHRE B o= [[REesRONES)
R [BiNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.250[ A 40,000 10,000| 40,000 10,000 0.200 8,000
* 17[ B = e R EHEEEREE 0.410] A 30,700 12,587 30,700 12,587 0.200 6,140
* 18[BI=B1F RIFZMTEHEEEREE 0.410 29,600 12,136] 29,600 12,136 0.200 5,920
* 19[;BI =B & R EEEREE 0.600[ A 24,200 14,520 24,200 14,520 0.600 14,520
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 49,243 2,462 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 49,243 739 0 0 0.000 0
B 52,444 49,243 1.200( 34,580
B fiff 1.0 XHY 52,444
EEANE 49,243
ZTRMBEE 3,201
data (&%) £458(107) ERIEERE 30mLlE50mEi#E 00 iR 5 -0.2
6




= REE?
=25 1 A B (i 3= i
HHES 3396 | = 55 EiHES| 3396 |EEsnEEE
BHEifa % [(EEYEREEMnm 1-FNo YER D 1.00 YE R B L = RE e E A=
B S [ _ _ e B NEEAHRE B o= [[REesRONES)
R [BiNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.280[ A 40,000 11,200] 40,000 11,200 0.230 9,200
* 17[ B = e R EHEEEREE 0.420] A 30,700 12,894 30,700 12,894 0.230 7,061
* 18[BI=B1F RIFZMTEHEEEREE 0.420[ A 29,600 12,432] 29,600 12,432 0.230 6,808
* 19[;BI =B & R EEEREE 0.680[ A 24,200 16,456 24,200 16,456 0.680 16,456
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 52,982 2,649 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 52,982 795 0 0 0.000 0
B 56,426 52,982 1.370] 39,525
B fiff 1.0 XHY 56,426
EEANE 52,982
ZTRMBEE 3,444
datal (&%) £+ 45(107) EETERIOmEKE -0.1 #i% & 0.0
6




= REE?
=25 1 A B (i 3= ﬁﬁ%%
HHES 3450 | = 55 EHRES| 3450 |EEmmnEEE
HifaH (HEER 1-FNo YER D 1.00 YE R B L = RE e E A=
# & [ILEE150.04ha _ _ 1 B NERAGE B o= [[REesRONES)
R BN | 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.050] A 40,000 2,000/ 40,000 2,000 0.050 2,000
* 17[ B = e R EHEEEREE 0.050] A 30,700 1,535 30,700 1,535 0.050 1,535
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BI =B & R EEEREE 0.100[ A 24,200 2,420 24,200 2,420 0.100 2,420
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 5,955 298 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 5,955 89 0 0 0.000 0
B 6,342 5,955 0.200 5,955
B fiff 1.0 XHY 6,342
EEAGE 5,955
ZTRMBEE 387
datd (%) ZEAILG7) UEEE R 05hakiE 04 FREERTER 1~28FT -02 #R & 00
6




= REE?
=25 1 A B (i 3= i
HHES 3451 | = 55 ZiFEE| 3451 |EEAMEEER
Hifa# {ZEELUETFEmis 1-FNo ER > £ 1.00 YE R B L = RE e E A=
# & [ILEE150.04ha _ _ 1 B NERAGE B o= [[REesRONES)
R BN | 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.050] A 40,000 2,000/ 40,000 2,000 0.000 0
* 17[ B = e R ERAEHE 0.190] A 30,700 5,833] 30,700 5,833 0.120 3,684
* 18[BI=B1F RIFZMTEHEEEREE 0.190 29,600 5,624 29,600 5,624 0.120 3,552
* 19[;BI =B & R ERAEHE 0.360[ A 24,200 8,712| 24,200 8,712 0.360 8,712
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000] % 22,169 1,108 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 22,169 333 0 0 0.000 0
B 23,610 22,169 0.600] 15,948
B fiff 1.0 KBy 23,610
EEANE 22,169
ZTRMBEE 1,441
data| (&%) BEAILA7) LUEEMEFE 05hakim 0.4 BRIEEFTEU~28FF -0.2 #1 & 00
6




= REE?
=25 1 A B (i 3= i
HHES 3452 | = 55 ZHRES| 3452 |EEsnEEE
B H A F (4525 L RSt 1-FNo YER D 1.00 YE R B L = RE e E A=
B S |HMEER 50m _ _ . B NEEAHRE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.050] A 40,000 2,000/ 40,000 2,000 0.000 0
* 17[ B = e R EHEEEREE 0.350] A 30,700 10,745/ 30,700 10,745 0.250 7,675
* 18[;A|ZBhF RIFZMTEHEEEREE 0.630[ A 29,600 18,648| 29,600 18,648 0.500/ 14,800
* 19[;BI =B & R EEEREE 0.550[ A 24,200 13,310| 24,200 13,310 0.550 13,310
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 44,703 2,235 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 44,703 671 0 0 0.000 0
B 47,609 44,703 1.300[ 35,785
B fiff 1.0 KBy 47,609
EEANE 44,703
ZTRMBEE 2,906
data| (%) BEAIL@T) iR o
6




= REE?
=25 1 A B (i 3= i
HHES 3453 | = 55 EHES| 3453 |mEsnnEEE
Bfi 4 422 LSS MR E 1-FNo YER D 1.00 YE R B L = RE e E A=
B S [ _ _ e B NEEAHRE B o= [[REesRONES)
R [BiNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.180[ A 40,000 7,200/ 40,000 7,200 0.180 7,200
* 17[ B = e R EHEEEREE 0.270] A 30,700 8,289] 30,700 8,289 0.180 5,526
* 18[BI=B1F RIFZMTEHEEEREE 0.450[ A 29,600 13,320] 29,600 13,320 0.360| 10,656
* 19[;BI =B & R EEEREE 0.360[ A 24,200 8,712| 24,200 8,712 0.360 8,712
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 37,521 1,876 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 37,521 563 0 0 0.000 0
B 39,960 37,521 1.080[ 32,094
B fiff 1.0 XHY 39,960
EEANE 37,521
ZTRMBEE 2,439
datal (&%) BEAILAT) EEERSOmEKE -0.1 #i% & 0.0
6




= REE?
=25 1 A B (i 3= ﬁ%%
HHES 3454 | mE 55 ZHRES| 3454 |EEsnEEE
Bifi4# | FmRERA J1-FNo ER > £ 1.00 YE R B L = RE e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0120 A 40,000 4,800/ 40,000 4,800 0.000 0
* 17[ B = e R EHEEEREE 0.240] A 30,700 7,368| 30,700 7,368 0.000 0
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BI =B & R EEEREE 0.000[ A 24,200 0| 24,200 0 0.000 0
501 [ MAELHEXHE] |HMESBEIRTIEE 1.500( % 12,168 183 0 0 0.000 0
B 12,351 12,168 0.000 0
B 1 1.0 XHY 12,351
EEANE 12,168
ZTRMBEE 183
datal (%) ZEARIL@A7) LEEFE03hakiE -0.2 ZH=#RMEREI0m -0.2
6




AR 22 {8 31| BE i =%

HHES 3460 | mE 55 EHES| 3460 |EEHKEEE
Bifi4 | iR {/ERB J1-FNo ER > £ 1.00 YE R B L = RE e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.320 A 40,000 12,800 40,000 12,800 0.000 0
* 17[ B = e R EHEEEREE 0.640| A 30,700 19,648 30,700 19,648 0.000 0
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BI =B & R EEEREE 0.000[ A 24,200 0| 24,200 0 0.000 0
501 [ MAELHEXHE] |HMESBEIRTIEE 1.500] % 32,448 487 0 0 0.000 0
B 32,935 32,448 0.000 0
B 1 1.0 XHY 32,935
EEANE 32,448
ZTRMBEE 487
dat6a (%) BEAILAT) ERERSkmEKE -0.2 ZE#RMEMRE5m 0




= REE?
=25 1 A B (i 3= ﬁﬁ%%
HHES 3462 | mE 55 EHRES| 3462 |EEimnEEE
HifaH (HEER 1-FNo ER > £ 1.00 YE R B L = RE e E A=
8 5 | ILFBET50.13ha _ _ 2 - NEZEAE B o= [[REesRONES)
R BN | 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.180[ A 40,000 7,200/ 40,000 7,200 0.180 7,200
* 17[ B = e R EHEEEREE 0.180] A 30,700 5,526] 30,700 5,526 0.180 5,526
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BI =B & R EEEREE 0.360[ A 24,200 8,712| 24,200 8,712 0.360 8,712
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000] % 21,438 1,072 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 21,438 322 0 0 0.000 0
B 22,832 21,438 0.720] 21,438
B fiff 1.0 KBy 22,832
EEANE 21,438
ZTRMBEE 1,394
datal (%) £+ A1L(107) LUEEMETE 05hakid 04 FRIRERTEUI~2@Fr -02 HhiW 2 0.2
6




= REE?
=25 1 A B (i 3= i
HHES 3463 | = 55 ZHRES| 3463 |EEimnEEE
& {ZEIUEFmAE 1-FNo YER D 1.00 YE R B L = RE e E A=
8 5 | ILFBET50.13ha _ _ 2 - NEZEAE B o= [[REesRONES)
R BN | 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.160[ A 40,000 6,400/ 40,000 6,400 0.000 0
* 17[ B = e R ERAEHE 0.690] A 30,700 21,183| 30,700 21,183 0.460| 14,122
* 18[BI=B1F RIFZMTEHEEEREE 0.690] A 29,600 20,424| 29,600 20,424 0.460| 13,616
* 19[;BI =B & R ERAEHE 1.370] A 24,200 33,154| 24,200 33,154 1.370| 33,154
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 81,161 4,058 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 81,161 1,217 0 0 0.000 0
B 86,436 81,161 2.290] 60,892
B fiff 1.0 XHY 86,436
EEANE 81,161
ZTRMBEE 5,275
data| (f5%) £4528(107) ILEEER 05haxki® 04 ERIEERTEI~28f -02 MR 2 02
6




= REE?
=25 1 A B (i 3= i
HHES 3465 | = 55 EHRES| 3465 |EEHKEEE
Bfi 4 422 LSS MR E 1-FNo YER D 1.00 YE R B L = RE e E A=
B S [ _ _ e B NEEAHRE B o= [[REesRONES)
R [BiNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.220] A 40,000 8,800/ 40,000 8,800 0.220 8,800
* 17[ B = e R EHEEEREE 0.310] A 30,700 9,517 30,700 9,517 0.220 6,754
* 18[BI=B1F RIFZMTEHEEEREE 0530 A 29,600 15,688| 29,600 15,688 0.440| 13,024
* 19[;BI =B & R EEEREE 0.440[ A 24,200 10,648| 24,200 10,648 0.440 10,648
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 44,653 2,233 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 44,653 670 0 0 0.000 0
B 47,556 44,653 1.320] 39,226
B fiff 1.0 KBy 47,556
EEANE 44,653
ZTRMBEE 2,903
datal (&%) £ 5(107) EMTERSOmAR —0.1 Hi # 0.2
6




= REE?
=25 1 A B (i 3= ﬁ%%
HHES 3466 | mE 55 HiES| 3466 |EEHKEEE
Bifi4# | FmRERA J1-FNo ER > £ 1.00 YE R B L = RE e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0120 A 40,000 4,800/ 40,000 4,800 0.000 0
* 17[ B = e R EHEEEREE 0.240] A 30,700 7,368| 30,700 7,368 0.000 0
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BI =B & R EEEREE 0.000[ A 24,200 0| 24,200 0 0.000 0
501 [ MAELHEXHE] |HMESBEIRTIEE 1.500( % 12,168 183 0 0 0.000 0
B 12,351 12,168 0.000 0
B 1 1.0 XHY 12,351
EEANE 12,168
ZTRMBEE 183
datal (&%) £458(107) ILEEFE 0.3hakiE -0.2 ZHS#RMEHRE10m —0.2
6




AR 22 {8 31| BE i =%

HHES 3472 | mE 55 ERES| 3472 |EEsnEEE
Bifi4 | iR {/ERB J1-FNo ER > £ 1.00 YE R B L = RE e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.320 A 40,000 12,800 40,000 12,800 0.000 0
* 17[ B = e R EHEEEREE 0.640| A 30,700 19,648 30,700 19,648 0.000 0
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BI =B & R EEEREE 0.000[ A 24,200 0| 24,200 0 0.000 0
501 [ MAELHEXHE] |HMESBEIRTIEE 1.500] % 32,448 487 0 0 0.000 0
B 32,935 32,448 0.000 0
B 1 1.0 XHY 32,935
EEANE 32,448
ZTRMBEE 487
data| (&) £4A1U(107) LLEETEFE0.3hakiim 0.2 F=#EMREIFE5m 0.0
6




